stress test

orgre 47t UuA vt e A

-
o o

S
0

©) (.%'3)5 — 15

2
bl:l blO
@ () -z
@ (ny‘?’) _x20y12

@ a0+ a5 = a?

® (=22 x (=2) = (=2)* =16

2. (2362 —azx + 5)+(4x2 — 3z + b) = cx?+6x+7 (H,
a,b,c = 74F)E WESh= a, b, c ol ot 2a+b—c

3. 9] hol7} g, obhAe) Lol7t b, oIzt hel At
2Ze] Yol B 57 B ul, b ThE Bl T} A ox
e Y
D b=2s—h @ b=2s+ah

2s 2s
@b—ﬁ—a @ b ﬁ—i-a
2s
=—+1
® b h+
4. }

b—_l o o, o2 Ao g

L Sstoler
—[Ba—{a— 2b — (7a — 4b)}]

a =

5. A=32%91, 95& AE AH&Sto] UERfH?

D A5 @ A5 B AT @ A% (B A°
6. (3z—4)— (v+3) & 7] 5HH?
D 2x-1 @ 2x+1 ® 22 —12
@ 20 +7 ® 2x-7
7. FA FAE o]goto] oS ALtstH?
311 x 311 — 310 x 312 — 2
-2 ®©-1 ®o0 @ 1 ® 2

8. a=-2090]1, z=2a—10°]t} o] 0, A 3z —4 9
e Aol Ao R £2 AS B 1=2HY
@® 3x(—5)—4 @ 6x(=5)—4
® 3x(-2)—4 @ 6x(—2)—T
® 2x(-2)—-1
9. (zm _ %) <4x + %) o AT o, 2 O] AG?
1 1 1
©) -3 @ -5 Q@ —=




—
o
i)
mlo
ol
o
rlo
il
9

@ 4x (-2)®=32

@ (—2)?x (=2)?=—-16
® (=2)? x (—8) = —32
@ 9x32=3°

® (-3) x (—3)3 = —3*

11, (zoybze)n = 228442,70 & ghEsHe 2} S

L o, a + 2b — ¢ 9] G+ Foteiat.

12. g B7] % o442 B @ 7 979

H7]

=]

Q@ 422 — 5z
© z(4x —4) + 2 — 422
1
@ ?—.’E
@ (2 -4z +32%) —2(2% — 4z +1)

1 1
@ <§z2+4x7 1) — <71 —4x — ng)

® 17 @ 2 7 @ 371
@ 4 7 ® 57

13. § (_§ 1 _ 1)2 7t s] slal-e 7} Slo
A40] Fe q 2 kA ol [8a| O] W27
15 11 1
® 5 @ = ®11 ®15 O 3

14. [ | etol BoZ 714 7hdt 21 Fshofat.
r+4y — {20 — By —O+y) +y} =5z — 3z +2y)

3a(a + 2b) — (10a®b + 8ab?) =+ (—2ab)

16. 42 +3y =2 L W], 5(x —3y) — 24z — 3y) & z °l
et Ao = vehoia)




17. ohg Zo A [ ]gtoll EoiZ ggte o] Zre A7 | 21. (z + gy)(% - %y+2)—§—' AAste] V] Pe of,
170 AL mE 9 (AT
A2 e Ag BE A2W? (FF 2 7)) oy ] A%
@ 6a2x [ |= 2443 1 _3 3
O -3 @ -3 ® 3
O (29:)2>< — 813 E ?
E T © 5
© 162%+ | |- 4a®
@ 22 +2"+[ u
22. n o] A5d of, (—4)3 = (-2)™ = —276 o]}, o] uf,
voe 206 066 mtn €] g Fotole,
(ONENE) ® ©,e
18. 2x 23 x 22 =128 4 o, x 9] Zk2?
23. 219 = 1000°]2t & o, 510 9] Zro?
D1 @ 2 ® 3 @ 4 ® 5
D 102 @ 104 ® 10°
@ 107 ® 108
19. 2$;y — x—;?)y =ar+by W, FFa,b T
a+0b 9 327
. 11 11
5 1 24x+y+z:0?—l‘mﬂ,aﬁ(7+ >+y<7+ )-i—
® -2 @ -1 ® -5 vy 2w
LoD o zre 2a1m9 (g
o o2 z(x+y)4m4h.(L,x¢07y¢o,z#
0)
®-3 @-2 B®-1 @0 ® 3
20. 23z —-2)—dax| |=722—142 QW[ et
Qghe .09
2. 9.2 2
D z+2 @ —z+3 3 2¢—3 25.w:27y:17zz_4%}q,x(yz 2z%y + byz
3 312y2
@ z+3 @ -22-3 o] gt& Fatolat.




